BB _TIILTEFIE FI4ER FEHEK

RETILIEEER
2025456 86 H(%) (6322y P72)
B L K % B TOTAL OUT IN AP jgsy E % 7B TOTAL OUT IN  “PR5 | gy E % B TOTAL OUT IN
1 fEA BE— KE 72 3 37 O | 41 X¥ EBE= RE 82 41 41 86 #HE =7 K E 87 42 45
2 &K Bm N=— 73 38 35 O | 41 B LM WA ER 82 40 42 86 RAIl WA BE 87 44 43
3 JRE =EHE = 74 35 39 O | 41 x5 = == 82 40 42 93 HN & & 88 41 47
3 HH &= A 74 37 37 O | 49 FIl =EK BN 83 43 40 93 A EA RAREER 88 48 40
3 5iF #Ht RE 74 36 38 O | 49 He H— TR 83 43 40 93 Bk 1Bz & 88 41 47
3 H®HAE srsh FALVE 74 40 34 O | 49 A % TAREE 83 43 40 93 Fy EFE B N ES 1 88 47 41
7 AF MMiE & 75 37 38 O | 49 B Bt 7—kLA4H 83 43 40 93 F FERE KE 88 44 44
7 KW IE KE 75 39 36 O | 49 HE EKE KE 83 41 42 93 WT F]— WA ER 88 42 46
7 BXK —F AR 75 37 38 O | 49 @ & B NE| 83 40 43 99 BAX {& BE7EC 89 45 44
7 #%K #H RE 75 38 37 O | 49 BT EIl 7—kLAY 83 42 41 99 ERN FE— & 89 45 44
7 KR &= TR 75 36 39 O | 49 HHFE FEX N 83 42 41 99 Bl ERE RAERR 89 42 47
12 BiEA  th#t X 76 37 39 O | 49 HHA E 7—kLAY 83 41 42 99 FH =RA XEH 89 48 41
12 Al i RARERR 76 38 38 O | 58 B EE RARERR 84 47 37 99 #IL &S &l 89 46 43
14 AR JE 15| 77 37 40 O | 58 EHI FE RE 84 38 46 99 WHE A K E 89 42 47
14 )il ST & 77 41 36 O | 58 #® {E= PGM;th A 84 40 44 90 M Al R=— 89 46 43
16 =& =8} B/ /N 78 39 39 58 {E”RK EE T—hLAY 84 44 40 106 AT <& A 90 43 47
16 NHE & 7—kLAY 78 40 38 58 Hf E— RE 84 45 39 106 RHE RIE WA 90 49 41
16 &HF =M K E 78 39 39 58 AR KRE PGM;thH 84 43 41 106 &0 #4T N=Z— 90 43 47
16 #EX EA &= 78 38 40 58 /MFR BIE R 84 41 43 106 &L 1E 7—kLAH 90 46 44
20 EHAE GAER ZARER 79 42 37 58 H R—Ef RE 84 43 41 106 W 2z RAREE 90 46 44
20 /B OHER RAER 79 38 41 66 H& FEEER B 85 45 40 111 K 58 ER RN=—_— 91 45 46
20 EAD AE RZ— 79 39 40 66 WO & 7—kLA4H 85 45 40 111 X Eth EX= LS, 91 45 46
20 EO Fif RKE 79 40 39 66 FHE E— FKER 85 40 45 1M1 K F— 7—kLAH 91 48 43
20 #E IEFD PGM;thH 79 43 36 66 AR H— R=— 85 45 40 114 i EX BEFEC 92 46 46
25 fEH B & 80 41 39 66 BE Hi 7—kLAH 85 44 41 115 BEA  KER xR 93 51 42
25 fEE IE RE 80 42 38 66 HE = BEFEC 85 45 40 115 I Hz 7—kLA4H 93 48 45
25 K&t fEF B 80 39 41 66 FTK FHE 7—kLAH 85 45 40 117 AR 3&&E ZARER 94 49 45
25 BN EE RE 80 42 38 66 BE & %= 85 40 45 117 B #— K E 94 47 47
29 I IEA IR 81 40 41 74 =5 =8 7—kLAH 86 41 45 117 XK #B—B I%H 94 45 49
29 ¥ EE 1 AY) 81 40 41 74 FE EREI RAE R 86 45 41 120 B =pk - AY) 96 44 52
29 Ax RBR¥F XH 81 42 39 V2= ET E AT 86 42 44 121 #HE  HEsh XH 97 46 51
29 AR EE 4 5 B 81 40 41 74 EK = wAE 86 43 43 122 £ & XH 98 47 51
29 =1 WE B NET 81 44 37 74 R Bh— RKE 86 44 42 123 s+ ®|E RE 99 50 49
29 KLt WHME RE 81 42 39 74 RE 1B 7—kLAY 86 40 46 124 & KE XH 101 48 53
29 BF F— RE 81 37 44 74 R % RE 86 44 42 124 1B Xif WA 101 53 48
29 IhF OHA RARER 81 40 41 74 EA ZF KE 86 47 39 126 BN BES BN 103 50 53
29 FE AF RE 81 42 39 74 HEF [EH RAERR 86 46 40 RE =& 1EH 7—kLAH
29 {kH #H— PGM;thH 81 41 40 74 R OFHE 15| 86 43 43 RE &@BA FAI KR
29 i B— TARERR 81 41 40 74 N FIA KR 86 47 39 RE K& BT BN
29 k& Mm% & 81 40 41 74 FMA EE XH 86 44 42 RFE FEBR (E PGM;th H
41 ME A KE 82 43 39 86 MK B 7—kLAY 87 44 43
41 HE —H PGM;thH 82 40 42 86 FIPH H2 %= 87 50 37
41 FE =R RE 82 38 44 86 A XH 87 48 39
4 dktH FE KE 82 44 38 86 HEMAE [3— 7—kLA4H 87 43 44
41 HRA #ER 7—kLAY 82 43 39 86 =& HA 7—kLAY 87 43 44




